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1ML Nlst i 1) projects are deloyed (139 than bhe galloped aowiary. Bul hear- 135, (1) side 12} mickile
(24 beconme of ithe ahsents (33 ing the merchand { 130 ot o him, e 5
or proper planming (4.7 All cor- sTEp[ﬂi when he was a sfe distance & EI_J"E' £A) eniting
rect (5] vy . " Plemse don't telll anyone how you {5} distance
Directions (131-140): In the fol-  came (o possess this horse. Someday 1360 (1) Unhappily
hvwing passage there are blanks, each  an il man may be lying by the road- {2y Caredully.
of which has been numbered. These  side and people who have heand about ) Di = "
numhers are printed below the pas-  your trick, may not want 1 help, "said
sige and against exch, five wonds are  the merchant. The merchant's neigh- 4) Masery
suggested, one of which fits the blank  Bour was deeply ashamed. rode back (51 Upsetting
appropristely. Find out the appropri-  and retumed the horse © the mer- o0 ) giphed . (2! opad
ate word in each case. whant. 253
A rich merchant oaned o beapgi- 131, {1} =edl (%] by g
fual horse. MNow, one of his neighbours 3] sieal 4} free L R
wis keen g (1311 thix horse. He of 5] tradr 138, (1) onto 23 with
Fﬂ'ﬂd'_:: m_rfuf_"d- _:_!!JH-':d x 132, (1} since (2} sor {3) above i4) o
T = ange
neighbowur, He (133} 1o trick the mer- ::::_::}H& Wi cthiermiae {3} o 2
chant. He dispuised himeelf (130 &, 0 (1) ed  12) desires L (1) way (2} saidle
begzar and loy down af the (135) of i i3 orms 14} horse
thie yiomed, Wl thie reescclisit Tmesd e 130 elecdedexd 4] dechined {5} dager
eryday. (L3 ai the sad plight of the {5} deliberately
beggar, he (L37) from his horse and 33% (Usmilar  {2) belng 130 ||| beg 12} =ppeal
gently lified the beggar {138) his horse, () altke 4] an (3 showed  4)call
Mo sowoner diid the beggar get indo the 15) identical {51 cried .

CLERICAL APTITUDE

Directions { 1 41-165): In cach gquestion below o comvbination of Nome and Address is given in the first anmimbened
oolumn at the left followed by four such combinations one esch under the colmms 1,23 snd 4. You hove o find oot the
commbination which is exacily the same o= the combination in the first unnoembered colomn. The mmber of that column
which coniains that combinaizon is the amswer. IFall the combinations are different, the answer is "5S'.

L MansiArons
SagarApts
Wani ¥ ilhar

- M.P-E2

HE Somum Mbishim
L H Romd
TPS -
MNewDelhi-{1]

A AnishSharms
122, B Wing
Symphomy Soc.

B Nurmbai<] |

14 Dielia Ciomst,
Sector 125
M. Rowxd
Mk

& MNagpal&Sons
Opp. BT, Caolony
Pemscihikuks
Tel-31 19867

M Fewn Stones
Enaclira Mkt
Blck A
Fux : 231975

The information provided here is only for Reference.

1
ManviArora
Sagur Apts
Van! ¥ihar
M:-P_-§2
Seomall Mishaa
L H. Road
TPS - M
MNewDelhi-0]

Amish Shamma
122, B Wing
Symiphony Saoc.
Nhurmibai-< 1 1
Deltn Coaest.
Seclor 126
.M. P
Mok

Magpal & Sons
Opp. B.T. Codony
Panchikuka

Pin-31 19867

Rewa Siores
Imckivn 8kt
Bikxk A

Fux : 231975

2
Mlansi Ao
SagarApts
Ban Vihoar
M.P.-E2
Sonam Mishrm
LK. Road
TPS - I
NewDelhi 01

Amish Sharma
122, B Wing
Symphony Soc.
Bumbai-1 |

Drebtn Comst
Sector 125
.M. Rosd
Maida

Magpal Sons
Opp. B.T. Colony
Pamschkuda
Tel-31 19867

Reva Stores
Imdirn Mkt.
Bhxk A

Fax : 231975

3
Manei Arora
SugnrApts
Wani Vilhar
MP.-BE2
Sewnam Mishm
LH. Road
TBS -1
NewDethi-01 =

AnishSharma
122, D Wing

Symphony Soc.
Blurmbas-411
Delia ConsL
Sector 125

*DML. Raoad

Moidla

Mogpal & Sons
Opp. B.T. Colony

Panchkula
Tel-21 19867

Rirwa Stores
Inclia Bk,
BlockA

Fax : 231975

4 5
Mansi Ao Mo
SagarApts
Wani Vihar
MP.O2
Somam Mt
L_H. Road
TPS -
NewDelhi-b
Amish Sharma

122 B Wing
Symphony Soc.
Blumibai- | 14

Dheltn Comest.
Sector 125
DN Boad
MNioicla

Nagpal & Sons
Opp. B.T. Colomy
Panshkula
Tel-31 19867 .

Rewa Stores
Irwlire Mlkt
BlockA

Tel : 231975

It may wary Original
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KishoreTech
IFCT Plaza
G.N. Marg
Rourkels- 10

Ajantalme.
Ruspali. R-19
Near A B. Esi.
Pin-Tir* B4

. Muottiah
A-B | Janaki
MAumna magar

Chennad 1)

Manali Cenire
Sant Enclave
Opp. Bus Depod.
Patlala

Sania Mehia
Plot 24/2
Sector X1I
Rashini
Ganechari Ent.
An and Bhawan
Indore - 1B
Ph. 4084464

K. C. Chowdheiry

Asha Hsg. Soc.
Rajartuat

Kolkat - 56

Apgarwal Farms
105:49.C
Kovilpatti

South 6IE501

Sanjeev ¥arma
Shalimar Sq.
26, Lalbaug
Lucknow-26

Mitim Assoc.
AS02 Orion
Tolsioj Bldg
Faridabad-92

C M X Sysiems
Todi Indl. Est.
Mear Foriis

Dehradun - §2

Soni Electronics
E-17. CHS
Susneha
Nagpur- 41

Kishore Teck
IFC1 Plaza
G.M. Marg
Rowrkels-10

Ajanin Inc.
Rupali, R-91
MearA.B. Est
Pin-TODOES

V. Muttiah

AR, Janaki
Anna Magar
Chennni 10

Manali Center
Sant Enclave
Opp. Bus Depot.
Patinla

Sonia Mehia
Plot 2442
Secior X1I
Rohini

Ganechari Ent
Anopnd Bhawan
Indore - 81
Ph. 084464

K. C. Chawdhary
Asha Hsg. Soc.
Rajarhat

Kolkata - 56
Agrawal Farms
105:4%.C
Korviliparti

South 6XE501

Sanjeev YWerma
Shalimar Sq.
16, Lalbaug
Luocknow-26

Mitin Assoc.
AS102 Orion
Tolsioj Bldg
Faridabad-92

C M X Sysiems
Todi Indl. Est.
Mear Portis
Dehragdun - 12

Soni Electronics
E-TI.CHS

Susmeha
Magpur- 41

www.recruitment .guru

Kishore Tech
IECI Plaza
G.N. Marg
Rourkela- 10

Ajanta Inc.
Roopali, R-1%
MNear A B. Est.
Pin-T0O0084

V. Muthlah
A-R1. Janakl
Anna Nogar
Chennai 10

Manali Centre
Sant Enclave
Opp. Bus Depot.
Patiala

Sania Mehin
Phot 2472
Sector XITI
Roluini

Ganechari Eni.
Amnand Bhavan
Indore - 18
Ph. 4084464

K. C. Chowdhary
Acsha Hsg. Sec.
Rajarhat
Kolkata-56

Agarwal Farms
105%4.C
Kovilpatti
South 628501

Samjeev Varma
Shalimar Sq.
26, Lalbaug
Locknow-26

Nitim Assos.
AS102 Orion
Tolstoj Bldg
Faridobad 92

C M X Sysiems
Todi Indl. Est.

Near Foriis
Dehradun - 12

Somi Electromics
E-17, CHS
Susncha
Nagpur - 41

The information provided here is only

Kishore Tech
ICFI Plaza
G.N. Marg
Rourkels-10

Ajonta Inc.
Ruapali, R-1%
MNear A _B. Esi
Pla-700884

¥. Muttizh

A 1B, Janaki
Anna MNagar
Chennn 10

Manali Centre
Santa Emclave
Opp. Bus Depot.
Patials

Sania Mehin
Plot 224
Sector XII
Rohini
Ganechari Ent.
Anamd Bhawan
Indore - 18
Ph. 4084464

K. C. Chowdhary
Asha Hsg. Soc.
Rajagha
Kolkata - 56
Agarwal Farms
105/49.C
Kovilpatti
South 628501
Sanjesv Varma
Shalimar Sq.
62, Lalbaug
Lucknow-26

Nitim Assoc,
ASIO2Driom
Tolstoj Bldg
Faridabad-92
C M Z Systems
Todi Inl. Est.

Mear Foriis
Dehradun - 12

Soni Electronics
E-17, CHS
Suszneha
MNagpur-14

for REeference.

Kishore Tech
IFCI Plaza

G N, Marg
Raarkels-10

Ajanta Inc.
Rupali, B-19
MNear A.B. Esi.
Pin-TOMIE4

V. Muitiah

A-R1, Jannki
Anne Nagar
Chennai 10

Manali Centre
Sant Enclave
Opp. Bus Depat.
Patinla

Sanin Mehia
Plod 24/2
Seciar X11
Roshini
Ganchari En
Amnand Bhawan
Indore - I8
Ph. 4054464

K. C. Chowdhary
Asha Hsg. Soc.
Rajarhat

Kolkata - 56
Agarwal Farmis
105/4%9.C
Kovilparti

North 6IB501

Sanjeey Varma
Shalimar Sq.
26, Lalbagh
Lucknow-26

Mitin Assoc.

A 102 Orion
Tolsioy Bldg
Faridnbad-92

€ M X Sysiems
Todi Indl. Est.
MNear Fortis
Dehradiun - 21

Soni Electronics
E-17T.GHS
Susneha
Nagpur- 41

None

MNone

Nome

Mone

Mone
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Frasmd Media Fraszd Socdia

5. ). Layoul 5. 0. Layomi

iw Tirmpaii, %

Tirupa

Fh. IJE66520 rh. XZNE&HIO

Sahay Corp, Sahay Corp.
T4 “Sei Malda”
Biagushwar Mageshwar

Bhubsmoswar Hhuobunas

ISl Panda Xeros
BT, Ansnrl Si

Fandn Xaros
B7, Amsarl Si.
Bounni Had. Ba=ani Hd

LIC Colony LiC Colony

T skyeCablas Skys Cablox

3B Kamanli 3 B Kamani
Naw Enclave HNeow Enclawe

Jaipur - 53 JTaipur - 32

X B.2. Bhaila B2, Bhaika
42 C.H. Avanus

REAComplon BN ACompinn

FMashlk Mashik
Franc. Pabl. Frank. Pubil
Buengalow, @ Bungsiow, ¥

Shanil Hoap. Shanil Hosp

Fano4 | oow Fume4l | oos

LS M. M. Filiai H. N Pilkay
= Mamkuamj

Mogal Lana

f - Ramkunj
Maogal Lans

MMahim- 16 Mahim - I6

irections ( 16&-17Hi: Tha Ieiiar
Eroup in snch guestion balow is 1o bo

codifisd ss por iba lollowisg latier

b,
oo 8|4l wiv|L wielaxlr
Meter s (42 (8 1] 7|3]8 &8
o

You hava to find oni which of tha
mnavwers { Tpor {23 or i) or i4) has ihe
corroct coded form of tha @ iven leier
Eroup indicaios It om the

answorsboek

and
I mone of ithe coded
foms (s correct, mark 13} L.e. "None of
ibwws” ax ihs onswer.
k. FPEAWIR
03 doeTEd
X} 109748

1) 3FTHER
14 3I9ETH
Sy MNaone of thasa
T LYBEXKL
di) imamz4
(20 lHosz4
(A} IE420n
4} IE&DE3

i3 MNonu of thowa

T8 S Sdalda

4. T.H. Avanum
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Frasad Saodia

PFramad Modin

Frasad Modia

MHame
5 I3 Lavowi 5. IF. Layoui 5. O Layowi
Tirmpaii, 1% Tirwpail, 1% Tirupathi, I9
Fh.2ZEO620 Th. 2IE&HIO Fh. ZZR&&HIO
Sahay Corpa; Sahay Corp. Sahny Corp. Hone
T S Maddal T/ " Shei Maldas® Fi0 Sri Adalda’
Mageshwar Nagashwar NMageshwar
Bhubaneswar Bhubanoswor Bhuhanoswar
Fanday Xerox Fancdas Xarox r Mome
BT, AnsariSi. TE. Anuars Si BT, Amas
Bosami Mel Bosami Bd- Boauxani K.
LiC Colony LIC Colony LIC Colany
Skyriablos SkysrCablos SkyzCables Mome
IE Mumami A8 Kamani A B Wamani
How Enclave Maw Enciove Maw Enclavae
Jakpur - 53 Anipur - 53 Jnipur- 32
&Y. Hhoikn Bl T. Bhaiis M. F. Bhaiin fotil T
42, C.H. Avenus 42, C.H. Avenoo 4T, G.H. Avenus
EMA Compley DNA Comples EMNAComplax
Mashik Fashik Mashik
Franc. Pubi. Franc. Pubi. Maoms
Bangalow, & Bungalow, B
Shanil Hosp. Shanii Hosp. Shainil Hoxp.
Fano4l iooy Funad | loog Funedl Loms
B M. Pillai oML Pillsi B M. Flilasr Momu
B - Bamkonj B - Momkunj B - Mamikon)
Mogsl Lane Mogsl Lana Muogal Lamg
Mahim - 15 Mahim -6l Mahim - b
88, WAPFLYX . L7 il senait 13) smog
ilprausnl (2793 len 1) smoke {4 ) amoli
i3 TeORi= 41 TUianE i3] smibe
iSp Mona ofthass i il rode 12k roar
18%. FEETXL i1 roasi i4p rock
iip skznio izh 3zemio (3] rodus
(3 1ama0l (4) 3601 1R ik rebisd §2h relan
(% Mone ofthose {3 ralay 4} regrwk

Im. Evawrs

(1) 2ERT7ES
(IZRTHSE

121 ZURTHS
INGTAL

i) Maneofthess
IMreciloms { ET1-175):. Beolow im
wach guesiion five words sre given.
W hich of tham will come in the ihird
place ifoll oribhem are arranged aipha-

batic

¥. The sarisl numboer of thak

word ks your answar.

A7 fip advance i2) nirakl

f1j sdmiras i4) sdverse

2y sadmik
23 ey

172, {1 dwiail -

i3] desiro 4 dincuss

gy derail

The information provided here is only for Reference.

i2) relap=s
Birectlons | I TH-1E0): The nuws

im @ach gquasiion below s e ha clasai-
fliad info one of

Iallowing MNva =r-
mam :
iy Folities
{2} Social lasmas
(3} Sporks
4} Science amd Health
i3) Miscallanooas
ITE. Forelgs Universiiy o sel wp Ove
campasos in Imdia by March 24812,
i1 Politics
2 Social Issmos
43 Sporis
4§ Sciance and Haealil

i4p Mliacellanoons

It may wary Original
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177, Inflation hits all tiime high of 40

per cent.
(1 Politics
(3} Sports
{4y Science arid Health
i35 Miscellaneous

{2} Social Issues

17E. Four Indian referces appointed

for Hockey World Cup.
111 Poliics

121 Social Isswes

{1 Sporis

i4) Science and Health
1% Miscelleneous

179, Stwte sponsored climate study to

{pouge threat to Himalayan glaciers.
(1] Politics

i1 Social Issues

i3} Sporis

141 Science and Health

%) Miscellaneous

1B0. Ragping incidents on the Rise -

Parents demonstrate owside Uni-
versity.

{1} Politics

{2} Social Issues

(¥} Spaorts

14} Science and Health

i5) Miscellanesus

COMPUTER HKMNOWLEDGE

181. The most widely vsed input de-

vice is the :

1 1) monse 12 keyboard
13 modem £ b mmaosna bosr
15 MNone of theses

ACPUconlaing_

{11a card resder and a printing
device

{2} an amabytical engine and a con-
trol unit

{3 ncontrol unit and on arthmetic
loic unit

14} an arithmetic logic unit and o
cand reader

51 Mone of these

183 The ability of an 08 o mun more

than one application at & time is
called

i1} maltitasking

i1} ohjeci-oriented  progromming
{3} maulti-user computing

4] time sharing

15 Mone of these

184 Permonent instnections that the

compuier uses when it is turned
on and that cannot be changed

www.recruitment .guru

by other insiructions are comn-
twined in

(NROM 121 RAM
{ZPALL 4 REM

{5 MNone of these

Compuiations and logical opera-
tions are performed by the_ .
1y RAM (1 ALL

i3 Register 14 Conirod umil
i5) None ol these

IB&. The benefit of using computers

(k.18

iz that

iy Computers ore very st and
cam siore huge amounts of
data

2y Computers provide accumie
ouipat even when inpui is in-
correct

{3y Computers are designed to be
inflexible

i€y All of these

i5) Mome of these

Developing seis of instructions for

the computer to follow amd o do

the tosk the same way as mony

times as needed is called .

{11 listimg

{2) sequencing

(3] progromming

iy direciing

15y Mome of these

The ferm used io define oll ingui

anad output devices in a computer

syslem is

{ 1§ Moniior

12) Software

{3 Shared resoorces

i4§ Hardware

15y Mome of these

What type of resource is maost

likely o b 2 shared cominyon re-

SOUMCe in a computer network?

i1} Primters

{2) Speakers

{3 Floppy disk drives

{41 Keyboords

iSiNone of these

The vast network of compmers

that connects millions of people

all over the world is colled .

1) LAN (21 Web

12 Hypertext {4} Internet

{5y MNone of these

191. Which is nasl an itern of hardware?

i1y AnMP3file
121 A keyboard

The information provided here is only for Reference.

i3p A disk drive
P4} A oo
{51 ®Mone of these

192 To shrink a window to an icon_ |

{ ) open a groupwindow
121 minimiss a window
13 maximise o window
i4} resiore a window

i5) Noae of these

193. Computers connected o a LAN

{local area network) can
{limm foasier

{2} go on line

{31 share information and'or
share peripheral equipment

(4) E-mail

i3 Mone of these

1. The poriion that shows all the

choices you can make while
working in a window is called
the

1) options (2} tabde
{3y menn bar (4 item bar
15y Mone of these

195, is the process of carmying

oul commands.
i11 Fetching

12} Sioring

{3} Decoding

{4} Executing

i5) None of these

196, Which of the following is a com-

mon extension uwsed in the file
mames for application programs?

(HEXE 12/DIR
(I TXT 4 DOC
{5} None of these

197. Which of the follvwing is nol bree

abowt passwords T

il A password should be s com-
bination of mixed case alpha-
numeric characters

(2} Password should be maximuny
6 characiers in lengih

{3 A password that cam be memo-
rired eaxily shoold be used, so
that it need not be noted down'’

14} 4 passwaord that can be typed
guickly without much elfor
shouald be used

i5) MNone of these

198. Ain) —contains commands ihal

can be selected.

{1} pointer i 2} menu
{3} con (41 bution
(SpNoneolthese

It may wary Original
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is a sel of compuler pro-
grams thai runs or conirols com-
puter hardware and acts as an
imterface with application pro-
grams and wsers.
11y Object code
12) A compiler
{3 An operating system
{4} The CPU
{51 MNone of ihese
0. Anocther word for the CPLU s
{1} microprocessor
{2} execuie
13} micro chip
{4)decode
{5) Mone of these
. Hordware devices that are nmob
part of the main compaler sys-
tem and are often sdded loater to
the sysiem are_
{ 1) clip an {2y highlight
{1} execuie i4} peripherals
151 Mone of these
. Information on & compuler is
siored as -
{ 17 annlog dota { 2) digital dats
i Avmodem data (4 ) waiis data
{5} None of these
If vou wani bo move an icon en
your deskitop, this is called
i1y douhle clicking
121 highlighting
i3) dragging
14} pointing
i5iMNone of these
Y To®_ a document means o
make changes io is existing con-
fent

i 1 format 2} save
13 edit 4 ) primt
{5) MNone of these
. Where is the disk put o enable
the computer to read it 7
i1y Disk drive {2} Memory
13 Cru 4 aLu
(51 None of these
{ MK Which of the following is not an
example of hardware 7
il Mouse {2 Priniter
{33 Mo bor {4y EXCEL
i51 None of these
Xi7. Which of the following is part of
the System Unit 7
{1 Monitor {2y CPL
(MCO-ROM  (d) Floppy Disk
151 Mone ofthese

MOTE:

208, IT stands for.

2lo.

Il

- -5

213,

Il4.

215

216

{1} Information Technology

12} Imtegrated Technology

i3} Intelligent Techmology

{4} Imteresting Technology

{5} Nome of these

Something which has easily-un-

derstood instructions is said 1o

be a

{liuser friendhy

{2} informakion

{3y word  processing

{4} xon {51 None of these

What is the full form of KB re-

lated o computer?

{ljKey Block (2} Kernel Boot

{31 Kilo Byte i) Ka Bt

i5) Mone of ithese

What is the purpose of Sofiware

Documenting?

{1} use and mainienance of sofi-
wWilre

(2) to sell software ai handsome
price

131 o sell sofiware 1o many cus-
tomers

4y o show s imporance

i5) Mone of these

Personnl compuoters are con-

nected 1o form |

il} Server
12y Super Compuier
13y Network i4) Enterprise

i5) Mone of ihexe

What does happen in RAM
when computer is turned off?
{1) Dperating System

(I BIOS

131 Software Application

14y Nothing

{5) Nome of these

When you save the following, the
data would remain intact even
after mrning off computer?

L RAM

121 Muotherboard

{3} Secondary Storage Device
i) Primary Storage Device
15} None of these

All the deleted files go o

i1y Recyele bin {23 Task bar
13 Tool Bar (4 My Computer
i5) None ol these

What is the shape of CI¥s?
11y Chasdrilaieral

12y Rectangalar

The information provided here is only for Reference.

T

21E.

219,

It may wvary

{3 Circular 14} Hexagonal
151 None of these

The mame given io a document
by wser is called

1 1} Filename 12 Program

13} Dt i4) Record

i 5} Mone of these

What iz cutpot?

{1} Processor takes from user
{2} User gives o processor

{3} Processor gets from user

(4] Processor gives o user

i5i Mone of these

The blinking symbol which indi-
cates the next character will ap-
pear ai which place, is called

{1y Delete key {2} Coatrol key
{3 Cursor {4y Retorn key
{5) Mone of these

A small figure which depicts some
application on the screen = called
{liMenu i 2} Photo

{3 Modem {43 Iocom

{5} Mone of these

Original
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SBl BANK CLERK EAXM 14-03-2010

HEASONING ABILITY

L. In row of forty children, Ris elev-
en h from the right end and there
are fifteen children between R and
M. Whai Is M's position from the
left emid of the row ¥
{1} Fourteenth
2y Fifteenth
13) Thirteenth
i4i Cannot be determined

M5) Mone of these

2. In a certain code langoage how
many are there' is written as 'ka
na tada’ and ‘'many are welcome
here’ is written as ‘no pi ni ka'.

How is "how” wriiien in thoi code
language ?

il 123 da
{Xitaorda

{4) Datn inadeguaie

15} Mone of these

3. If the positions of the frst and

the fifth digits of the nomber
EA591427 are interchanged, sim-
ilarly the positions of the second
and the sixth digits are inter-
changed and so on then which of
the following will be the second
digit from the right end after the
rearrangement T

{5 2)3
13 ] (42
{5 Mone of these

4. How many such pairs of letters
are there in the word ADJUST-
ING exch of which has as many
letters between them in the word
as in the English alphabet 7

i1y None {2} One
I3 Two §4p Three
{5} More than three

5. How many meaningful English
words, can be formed with ithe
letters LBAE using each letter
only once in each word ?

i1y Nome 121 Ome
13 Two {41 Three
i5) More than three

6. In a certain code BUILDER ix
writien as IWCKSFE. How is
SEALING written in that code 7
i1y BETFEHO
{21 JOHKBFT
i3} TFEKHOT
14y BFTRIOH
(5] Mone of these

7. If'R’ denotes V; T denotes '-";
"M, denotes "+ and W denoies
V.them —
2ITISRAIWAMG="?

T (2313
{3)-23 41
{5} Noneof these

E. In a cerinin code WAVE is wrik-
tem as 5%3*" and WINS is wrii-
tem a5 “SHEET. How is SANE writ-
ten in that code 7

() O9@* (1) o0
(D% (4)0%0.
i5) None of these

w. Which ofthe following is the mid-
dle digit of the third highest
among the five three-digit num-
bers given below 7.

IR 931 47 TIS 647

] 23
37 (4p1
51 4

e Among P. Q. R. 5 and T each
having a different height, ) is
shorter than only T and § ix
shorier than P and B. Who among
them is the shortese T
iy R
1218
i3p
i4) Data. inadequate
(53 None of these
Directions (11-15) : Swdy the

following ammangement carefully and an-
swer the questions given below :
BMURII@GKODFG&EIWA
*NEPZJAYSIQZ#TUG

V1. Which ofthe following is the sixih
to the ki of the twentieth from
the left end of the above arrange-
ment T

i1 2y
(31w - E
5) Mone of these

1Z2. How many such consonants ane
there in the above armngement.
each of which is immediabely pne-
ceded by a symbol ond immedi-i
abely followed by a number ?

= (1) None (2) O
i3 Twao i4) Three
i5) More than three

13, If all the symbols and all e I’
vowels are dropped from the
shove armangement, which of te
following will be twelfib from e |

right end 7
e (216
(EJR Hhy

{5 Mone of these
14. How many such numbers are
there in the above arrungement,
each of which is immediately pne-
ceded by a letter but mob mme-
dintely followed by a letier 7
1§ Nome (25 Ome
(3 Twao {41 Three
15} More than three
15. What should come in the plsce
of guestion mark {7 in the fol- ;
lowing series based on the above |
armangement 7
MRI ©OF? *E2 7
(1) ¥51 (23 Y
13 AFQ ) YIZ
15} Mone of ihese
Directions { 16-200 : In each of
the guestions below ore piven e
statements followed by four comclu-
sions numbered 1, [1, I and IV, You
have to ke the given siatements to
be true even if they seem io be al
variance from commonly known facts, .
Read all the conclusions and then de
citde which of the given conclusions
logically follows from the given stabe-
ments disregarding commonly kmown -
facts.

The information provided here is only for Reference. It may wvary Original



o I are given below it You have o
devickr whether the datn provided in
the stbermenis sre suffacient o amswer
e queestion.

Rmsd both the statements and -

Give answer (1§ if the dais in
Saermen | abone are sufficient o an-
sy the question., while the dats in
Sewemer [ abone sre not sufficient 1o
aeearr the guestion.

(Five answer (2§ if the dats in
Sefermert I abone are sufficient o an-
swer the question. while the data in
sinlement | alone are not sufficient to
o the guestion.

Five answer (3) if the daia in
Seement 1 alone or in Statement 11
sl pre sufficient o answer thie ques-
L

Caive answer (4 if the dsia i
trdh the Statements [ ond I are oot
sufficent io answer the guestion.

(aive answer (5 if the dsia in
tuth the Stolements [ and 11 together
o necessary o answer the question.
7. What dioes ka' miean in a code

Enguage 7

L "sa ka no' means ‘she may

work' in that code language.

1L 'ha keat tn” meenns “work is worship” in ﬂ:%ﬁ

18. What is Sonals mnk from the top

im a group of 10 stsdents 7

L Meenu's mnk is three mnks
above Sonal.

1L Sita is secomd from thebot-
toam and is three manks below
Somal

10, On which day of the month is

defimitely Dheerags birthdaoy 7

L Déwererny's brother comrecily ne-
mermibers that Diheernj’s birth-
day is after 15¢h but before

19th of the month.

11. Dheerag's friend comectly ne-
memibers that Deeraj’s birth-
doy is afier 1Tth bot before
21 st of the month.

28, How far is A fom the stating

pint 7

L Adrives 10 km. wrwards East,
then mkes o rght tum and
drives another 10 km. He
agmin drives 5 km. towands kefi
anel agnin drives 15 km. o
wards left Finally, he moves
15 k. tovevard = left and sioges.

1L A drives 20 ko, towands Enst,
then takes o left twm and
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drives another 200 km. He
again drives 10 km. towards
right ond sgain drives 25 km.
towards right. Finally, he
meoves 30 ko towarnds right
nned stops.

Directions {21 - 23: Following
guestions are based on the five three
digit numbers given below:

T56 421 BA3 615 597

21. What will be the prodsct of the
first and the third digits of the

third highest number 7

40 (2330
{3) A5 14124
(532
22, If the positions of the first and

the thind digits of each of the
numbers are interchanged,
which of the folkvwing will be the
summ of the first snd the second
digits of the lowest number 7

13 (237
{306 (48
52
23, 173 is subtrscted from the first

digit in eoch number aned T is
added w the third digit in each
mnumber and then if the postions

digits in
e interchonged,
then which of the following mum-
bers will be the second lowest

11615 {23421
3) 756 (4) 597
(5} 843

DMrections {24- 29} : Inesch of
cpuestions below ane given four staie-
ments followed by four conclusions
numsbered 1 IL 1T and TY. You hove 1o
imke the piven stsbements o be true
even if they seem o be &t variosnoe from
coamamsonly knowmn fucts. Remd all the
conclusions and then decide which of
the given conchisions logically follows
from the given statements disregoaed-
ing commonkby knsvan focts.

24, Statemernks:
All silver are metals.
All metils ane steel
Some sieel are stones.
All stones ane stands,
Conclesions:
L Some skands are metals.
Il. Bome stones are silver.
1. Some stands an: steel.
I'V. Some stones are steel.
{1y Dby T arsd IV fiollow

the

IT.

I8,

The information provided here is only for Reference. I

{2y by T follows

{3 Onby I folknws

{4} Cinly I follows:

i5) Nome of these
Hiatemenis:

All chinirs ane tmbles.

All tables ane songs.
Some songs are rhythms.
Some rhythms ane pillows.
Conclusions:

L Some whles are chairs,
1. All tmbles are rhiythmes.
M. All chairs are songes.
IV, Some pillows are songs.
(1 Omly T and T Follos
{2y Only T and IV follow
13 Omly 1 follows

(4 Dby I follows

Some mobiles are pens.
Some pens ane oovers.
Some covers ane plates.
All plates wre papers.
Conclusions:

L. All mohiles are covers.
1L Some pens are papers.
I All plates e pens.
IV, Some popers are mwobiles.
{1y Cnly 1 fiolliows

12} Oinky 11 follows

(31 Ondy 1 and IV follow
{23 Only I and IV follow
151 None follows
Sintermients:

All shoes ane tables.
Some tables ane lanes.
All caps are lanes,

Some lanes ane row.
Conclusions:

L. Some tables ane rows.
I11. Some tobles are shoes:
1L Some mws are caps.
I¥. Some lanes are shoes.
1y Oualy T ard 1 folloss

{23 Cmly 11 fiosdlows

(33 Only I follows

(4} Craly cither [ or I'Y follows
i5) Mone of these
Statemenis:

All bramds are baottles.

All bottles are machines.
All machines ane files.

All files.are mwols.

t may wary Original
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Conclusions:
. Some flies are machines.
11 Some brands are roots.
IIl. Some machines are roois.
I¥. All brands are Mies.
{1 None Tollhws
12} Only [ follows
133 Only [V follows
141 Al fodlow
15) Only 1 and IV follow
219, Siatemenis:
Kome symbaols are numbers.
Some numbers are letters.
All alphabets are symbols.
All pianos are letters.
Conclusiens:
1. Some symbols are letiers.
11 Some numbers are pianos.
T M letter is symbsol.
I¥. Some symbaols are alphabets.
{13 0Cnly I follows
12y Daly I follows
{3 Omly I and IV follow
14y Oaly IV follows
15} Ol y either 1 or I and 1V fol-
law
Directions (30-35) : In each
guestion below is given a group oFlet-
ters followed by four combinations of
digits/'symbols nombered (15, (2}, (3§
and {4). Yoo have to find out which of
the combinations cormmectly represenis
the groap of letters bazed on the fol-
lowing coding sysiens and the condi-
tions and mark the numbers of that
combination as your answer. If none
of the four combinations correcily rep-
resents the groop of letters, give {5
ie. ‘None of these” as your answer.

Lesem (P[] A]F]0
'E_nwlsﬂiql i

Conditions:

=]

WEEEES
ritil. A

=
e

4
-

i1y If the second letter is a conso-
mani and the last letter is a vowel,
their codes are to be inter-
changed.
tii) If the second as well as last
ledier is a consonant, each one is
to be coded as the code for the
letier F.
fini} If the third as well as fourth
letier is a vowel, then each one
is 10 be coded as 'P*

M. S5DGPMA
{1p O 1624
{2HOE2614

The information provided here

(1041628
{4026 | K4
15} None of these

3. AEAEM
{19238P3 {2PU2RSAH
(3y92PPI  (d) &25EIN,
i5) Mome of these

3. WARMFQ
(1D THEE (2)TLETHRD
(3 WPTEEP (41 °LTROSH
(5 Mone of these

33 EDSKIM
(1) 5@A¥3T {2} S4{@I2F
(3) S5@IST  (dp) 5@
{5) None ol these

M. DEQGFA
1450158 (2HE5E4D01

{3) BS 145D (4) Bl 540
{5} None ol these
A5 MEEZAL

(1) #3594

(2) AZ5983

(3) #53982

{4) #25398

(5) Nome of these

Directions (36- 40} - Siody the
following arrangement carefully and
answer the guestions given below :
453ZYASG*DETPLETQSE
ZBC I MUIX%

M. Which of the following is the
fourih ko the left of the tenth from
the right end of the above ar-
rangement 7

diB {257

L HE

{51 None of these

How many such mumbers ae

there in the above amngensent.

each of which is immesdiate by pe-

ceded by a number and ot im-1s

mediately followed by a letber 7

(1None {2} O

(3 Twao i4) Three =

(31 More than three

I all the symbsols anad leiters fom

the above arramgement arcR

dropped, which of the following?

will be ffih from the Beft end of

the above armungement 7

(14 {2)3

1315 T

P58

How many such consonanis ae

there in the above amangemeni. |-

each of which is immedintel y pre-

ceded by a letler and immedintely

followed by a vowel ?

{IiNone (2} Ome

{3 Two (4} Three

{5} More than three

i Four of the following five are olile
in & ceriain way hased on ther
positions in the above amange-
ment and so form a group. Which
IS the one that does not belong
1o that groop ?

37.

(1HEA (2)8Y5
i3 CuUns i+ PTS
(51 @LT

Directions (41- 50) : In each of the questions given below which one of
the following answer figures on the right should come after the problem figures
on the lefi. if ihe sequence were continued 7

Problem Figures

Answer Figures

A |A o] Q
a1 |E A 0 E
Q |E Q) E & E| A

[+ IEI.DE
AlEa |E AL O &

[T I =T E R ]

o ||k ] [
o|E1% & ¢ (22 TEIR
« [ HEE R

is only for Reference.

i (A (3 {4} (1]
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. 6 .7 4
M S — Al —4==7
BB B =] o|Al®|Alm] = sw3
@ W @ 11 7
m 35 @ 33
@8 |o|gle] [wiw(w[w[R] L& ,u
* [T ] 13 14 -45] [5) None of these
25 - 47
w2 @ 4 m 5
1y 2— @ =
i *® O Ql O & [¥] A O Ol * B
& 0 * A O + O= Ol ola o4 O 9 1
- A & & - x | 0 o= W 1=
@ @ W 39 4
15 None ol these
B4, 0% of 7 = 54
e 2 @ @ (8 13 170 4] 180
15 Meoe of these
N 3 - g o& éﬂ“ tg§u *Eﬁﬁ (R F] 3': GB. 2094 + 4836 - 2176 =7
cs § E nﬂi o EE“ 2iE BUa ) 6364 (2 6654
= i3 68,74 (4] 6855
[r  [2) 3 4 [1:1] 15 None of these
MNUMERICAL ABILITY 88 580 _15.7 88. 7 _13=1
A i 5 2 a {13 @ 158
Directlons [81 - 78) : What will
ol 7 ‘4 A W18 7

gme i place of the question mark (%)

b the Tollowdng quiestions 7

BlLdB + 3 x5 =7
1} 85 f2) 68
3 50 1) 48
[5¢ MNone of these

5L 1254 + 3244 - M4 87 =
(1} 1031 25 1111
[3 1063 [ pon11
5 Mone of thess
A T
5 10 2
i 2 21

3 o

T A I
(5 Mome of Lhese

B DA% ool 125 = 7
1 25 2] 30
(3 20 o4

3 Mome of these
B 4 -5 4 5 m

m 27 (2 37
13 a3z 4] 46
15 Mone of these

The information prowvi

l;l-

M Mone of these

BT 495 + 363 - 7 = B30

i 230 (2 23z
13 240 4 262
15 None of these

B8 256+T =8

18 [2) 24
a2 4) 36
15 MNone of thess
36+16x384+0
—=?
2

11 40 {2h 50
13 &0 &) L

151 Mone of these

1 2
B0, = of = of 360 =7

375
{1 48 2 55
60 4 &8
{51 Mone of these

Bl G256 + 3205 = 4206 + 7
y 807 12) 48.9
@ 627 4 4.6
{3 Nome of thwese

ners 1is 3'1;]' Lor

(8 Mone of these

7. Ied+1B+6-10=7
i 2 5
@7 i &
(3 Nooe of thess

B8 32374+ 3=

10 (2 16
8 1
(5 Mone of these
726

. T-lﬂl
& 2 4
e (4 @

(3 Nooe of these
70, 950 - 237 = - 187

1) 850 [ TE0
(3 980 {4} 870
(5 Mone of these

7L "I_f'e =%
(2 2 3
[ 4 [ 7

[5) Mone of these

vary
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T3,

TA.

T
75,

T

7.

TH.

w

52% of 7= |BZ

1] 354 2 350
3 360 {4 380
i8] Mone of these
324 - 225

2

a3

i) 27 12) 66
i3y 45 i4) 33
i5) Moneof these
B
272 -BA =7
1 1 @2
T M 1e
[H None of these
468 *d x 5-2B5=7
{1} 200 (2 300
i3y 4080 ° {4y 450
{5) None of these
Ifthe perimeter ofa square is 48
cm. what is the measare of its
side 7
i1y Bem. 21 1 cm,
3 12cm. 4y 16 cm.
i5) Mone of these

Ifa sum of Rs. 736 is equally di-
vided nmong twenty three people.
then how musch amount will each

person gei T
(1) Rs. 30 (2) Rx. 32
i3) Rs. 42 (4) Rs. 46

{5) None of these

The matio between the persent
ages of Ram and Rahim is 3 : 2
respectively. Also, the ratio be-
tween the present ages of Rahim
and Aman is 5 : 2 respectively.
‘What is the ratio between the
present ages of Ham and Aman
respectively 7
i1y 4: 15
(3 9:5

(4) Cannot be determined

15} Mone of these

IF{ 7Y is added to a number, the
value so obiained is 52. What is
the number 7

{1 6 (2} B

3) 5 4y 3

(5) Moneofthese '

2y 15:4

i ofthe Fashons = 253313

3
a.m:I!I

highest fraction?

. which is the second
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&2

The information provided here

i

@ = g

150 Nomne of these

IT the cosl of 28 pens s Re. 430
then what s the cost of 20 pens?
11p Rs. 260 (2} Rs. 280

13 Fa. 300 (40 Ra. 320

153 Wone ol these

Jyodl had G20 toffees, out.of
which she gave 220 tolfees to
Disha and 130 woifees w.Jasmine,
How many wodlees were remakn-

" inyg with Jyol?

(1] 250 (3 280
i3 260 4] 230
51 Mosee of these

What will come in place of both
the gueation marks (7] in the fol-
berwing equation’?

™ _18

32 m

11} 26 2 34

3 36 lap 24

i5) Mone of these

The profit made on selling an tem
of cost price of Rs. 1650 iz Rs.
210 What is the selling price of
that item?

{1) Rs. IBX) {2} Rs. IEGD

13) Rs. 1760 (4) Rs. 1920

{5} None of these

The speed of a train is 60 km/
hr. The driver exceeds the speed
of train by 12 kmv'hr. What is
percent gain in speed of irain?
iy 12 {2} 15

i3 20 i4) 25

i5) Mone of these

The area of a recingle is 221
square metre and its lengih is 4
metre more than its breadih.
What is the measure of its
breadth?

{13 13 metre {2}
{3) 17 metre {4}
i15) None of these
The present age of Surj is six
times the age of Vigay. Also, Vijay's
present age is 20 years less ihan
Swraj's age. What is Suraj's
present age?

14 metre
19 metre

i1y XM years (2) 22 years
{3y 1B years (4) 16 years
i5) Mone of these

BH.

o1,

o1

23

ad.

95

is only for Reference.

A mumber when ndded 1o b
third of itself gives the vahse 1501
What is that number?

{1} 60 (2) 75
(3p BO 4y 90
i5p Mone of these

What will be the simple inerest
accreed on a sum of R=. 4,050/ |
- at o rale of B% pucopa. im 2
years?

{1y Rs. 608

i Bs 670

3} Rs. 640

4 Rs. 648

151 MNoneofthese

Ajit has Rs. 26 more than Amij
Anuj has Rs. 60 more than Ravi
I'fall of the three together hove
total of B, 200, then how much
amount does Ajit have?

(1) Rs. T8 (2} Rs. 68

{3y Rs. 14 §4) Rs 106

i{5) None of these

In a test. a candidate gpor 381
marks less than the minkmuom
passing marks. [f the minimum*
passing marks are 230, then
how much marks did the conds-

date get?
i1y 200 () 198
3y 192 i4) 182

50 None of these

Fifieen men can compleie s piece!
of work in 20 days. How many,
men will complete the same wirk
in 25 days?

() 12 2y 13

{3} 1D 4 E

{5) None of ithese

In how many different ways can
the letters of the word "SOME" be

arranged?
() 20 [2) 24
3 16 (4 30

(5 None of these
DNirections ("94-95 j: What shouk]

come in place of guestion mark (7) idj
the following numberseries?

749 12 16 21 27 (T
iy 29 () 33
(3 36 4y 34

15) None of these
256 128 64 32 16 B ()

i 6 (2 S
{3 3 4y 2
{5) None of these

It may wary Original
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% What iz the average of the fol-
lowing set of numbers?
112, 102, 133, 116 and 127
(0 108 {2 118
{3 128 4 LD
{5) None of these

97. Rajiv purchased six calculators at
the cost of Rs. 690, How many
claculmors can he purchase from
Re. 9207
il) 8 2 9
i3 11 4y 12
15) Morte of these

M. The area of o circle is 154 square
cm. What is its diameter? =
{11 Bcm 2 Tom.
{3} 4 cm. 4y 22 cm.
{51 None of these

9. The ratio of the angles of a tri-

mngle is 2 - 3 - 5. What is the
sum of the smallest and the larg-

est angles?
{13 120" 2) 122®
(R T i4) 1267

{51 Mone of these

100. What least number should be
subtracted from 980 to make it a
perfect square? '
{1} 20 2 23
3] I8 {4y 17
15} Mone ol these

ENGLISH LANGUAGE

IMrections (101-115) : Read the
following passage corefully and answer
the questions given below it Certain
winds have been printed in bold 1o help
s bocaie them while answering some
af the questions.

Im avillage inthe East, there lived
on old couple. They did not have any
chikdren and pever speni an extra paisa
on themselves. They never repaired
ther house or cooked good food. One
iine, 0 family moved into the villuge. Ii
vk their son's second birthday and
oy sent two delicious lnddoos o the
bl couple. The couple ate the lasddoos
with great relish. For days afier they
okl talk of nothing else. Finally the
okl man could take it po more. He said
o0 bis wife. “Let’s buy the ingredients
o makee just iwo laddoos.” His wife
agweex] bl saiid, " 1F 1 make the laddoos
at boane, the neighbours will know and
will want a share. Let's cook in the
wiak behind our hut. That way no
ae will ever know.”
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The next day the old man puor-
chazed the ingredients from the mar-
ket and they set off to the woods. Hav.-
ing never prepared food like this be-
fore. they ended opwith three laddoos
instemifl of two. The odd couple returned
home with the sweets, dying to eat
them. But there was a problem. "l was
my idea nnd [ went 1o the market, so 1
ought 1o get two,” said the old man.
But his wife refused o give in so eas-
ily and said, "Since 1 prepared the
sweets, | ought to have two. "The day
wore on and the argument continued.

At last, the old man suggested, "Let
wz not talk to each other. Whoever
breaks the silence first will pet one lad-
dow and the other person twoe.” His wife
agrecd. Hours passed, but neither of
them spoke and finally they fell asleep
with the bowl of sweets between them.
That evening one of the neighbours
knocked on the door but the couple
did not answer for fear of losing the
bet. Peering through the window. the
man saw the couple lying om the floor
with an untouched bow] of food. “They
are dead!” He shouted and aleriefd ihe
othervillagers. Soon the doorwas bro-
ken down and the house was swarm-
ing with villagers. They discussaed ev-
erything from the funeral io where the
couple hod hidden their wealth. Buat
the couple lay still.

Finmally, the villagers carried them
to the cremation ground. Asthe flames
licked his feet. the old man jumped op
screaming “You win !° His wife jomped
up oo, happy that she had won. The
two then rushed home leaving the be-
wildened villngers present there behind.
But when they pot home.... Alas the
door hiad been left open and they found
a stray dog licking the last crumbs of
the sweets from the bowl
10]. What cavsed the old couple's

sudden longing for lnddoos 2

i 1§ They hadn't eaten pood food
for several days

12y They had attended their
meighbour's party and en-
joved the laddoos served

{3y They saw the mooth water-
ing laddoos being served to
puests ol the party

i4p They had iasted the laddoos
prepared for their neighbour's
son's birthday

(5§ They thought that the lad-
idoos would satisfy their hun-
ger for days o come

1z

103,

g,

The information provided here is only for Reference.

Why did the old couple cook in

the woods !

i1yt was very convenicnot to
gather firewood

i2) To avoid the risk of their hui
borning down

i2iTo keep the faci thoi ihey
were preparing laddoos a se-
crel from their neighbours

idiTo hide the faci that they did
not know how 1o prepare lad-
doos from their neighbours

i15) They did noi have the ingre-
dients o make enough lad-
doos for their neighbours as
well

Which of the following can be said

about the old couple T

{1} They did not have any rela-
tives o look afier them in
their old age

12} They were mizers snd did not
spend even on keeping itheir
house in good condition

13y They were not allowed 1o eat
sweels s they were old

i4) They were fond of animals
and somelimes shared their
fousd with stray animals

15y They were afraid of the vil-
lagers and hid from them

Which of the following is/are

True in the contexi of the pas-

sage T

i) The old woman hod prepared
more laddoos than she had
intended.

{B) The family who had recently
moved into the village were
fond of the old couple.

iCh The villagers were saddened
by the death of the old cou-
ple and gave them a grand
fumeeral.

i D‘I:I.'l:.I (Y]

12} Only (B and (Ch

13) Only {A) and (B)

4 ALLIAL {Bland (Ch

i5) Nome of these

Why did the neighbour peep into

the old coople’s honss 7

1) To learn what they were be-
ing so secretive about

i2) To spy on them and discover
where their wealth was hid-
dhen ™

i3y To complain os they had
cooked i the forest

It may wary Original
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{4} Tos chieck up on the old cou-
ple as he did everyday

{5 Mot clearly mentioned in the
e

What puzzled the villagers ¥

{1} The old couple did not die in
the fire

{2) The sight of the old couple
whom they had presumed
dead. alive

§3) The fact that the old couple
bind wasted good food

43 The lack of concern the old
woman had for her husband

15) The old conple fed the lad-
doos to the dog

Why did the old man scream

when sorrounded by the villag-

ers 7

11} He was afraid that his wife,
would get burned

{2} To scare away the villagers
who wanted o kill himi for his
money

i3} Hiz wife refused b allow him
o eat more than one laddoo

i4] To indicate to the villagers,
that he Was alive

i5) The fear of being hurt in the
Fire

What did the old couple disagree

about?

i 1} Where they would cook their
ezl

121 Which of them was entitled
o the first laddoo

i3y Wheiher to share ithe exim
ladidioo with their neighbours

14} The guantity of lnddoos that
they had mode

151 None of these

What was the villager's reaction

io the old couple's presumed

‘death’ ?

(1) They were upset and oll come
to pay their lasi respecis

12} They were worried about how
to pay for the funeral

13) They could not decide whai
1o do with the couple's wenlth

{41 They disliked the old coople
and demaolished iheir house

{51 They dutifully arranged the
couple’s last riles

Why did the old couple initially

mot reveal that they were alive to

the villagers 7

i1} To learn the villagers® troe
opinion of them

107,
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121 They did mot like the villsgers
and were mocking them
{3 Meither of them wanted o be
thi first to speak and lose the
et
{4} To test the honesty of the vil-
lagers
15} Mone of these
Directions (1 11-113) : Which of
the following is most similar in mean-
ing to the word given in bold as ased
in the passage.
11l SHARE
(1) half (2} part
{2 panticipate (£} divide
{5) common

112. BREAKS
{1} interrupts {2} separnbes
{3) zolves {4} defeats
{5} escapes

113 PASSED

i1} overiook (2} occapied

13} umnoticed 14) elapsed

15} succeeded

Dircctions { 1 14-1 135 Which is
muost opposile in meaning to the word
given in bold os used in the passage.
14 STILL

i1} restless

i3 conscious (4] calmly
* 5) [ifeless

(2§ mavisily

115, LAST
(1) new (2 beegin
(3 constant {4y disconiinoe
0 5) first

Directions {116-125): Read
each sentence o find out whether there
is any grommatical mistake enmor in .
The error, if any, will be in one part of
the sentence. Mark the number of the
answer. [fthere is no error. mark '5°.
116 The mainadvantage of { 1§/ invesi-

ing such schemes ( 2/ is that yon

will mot { 3 )/ have to pay any lax-

es(d). Noermor(5)
117, That customer has { | Ywritten a
letter (2)/ thanks the monager
(X! for her timely help. (4}, No
error (5]
Ouar company was recently f 15/
award ithe coniraci {2}/ o con-
struct two major { 33/ bridges in
the state. (4p. Noermor(5)
Accordingly the circalar{ 1 i/ thai
was issued yesterday REI (2)/ has
raised the rate ab {3 )7 which it
lends to banks. (4. No error(5)

118,

ne.

126, Their company is going bo incur
{1}/ heavy losses this year be-
cause {2} of the big discounts
they {33/ offers to customers.(4W
Mo ermor (5§

121 A large namber of policy (117 have

. lapsed because many (2} poo-

ple have not paid (3 )/ their m-

stnlments on Bme. (45 No ermor (5

The Foreign Investment Promo-

tion Board is ( 11/ the governmenit

body who (2 )/ regulates imvest-
mient received { 31/ by Indian fac-

tories from forcign countries. (4§

Ma ermor (5)

The final decision can { 1§ e tak-

enonly afier| 2 )/ we consider all

{34 the pane] saggestions. (41 No

error (5)

If his aim is b { § )/ buy a house in

the { 21/ mext three years he (3 )/

should stari immediate saving.

i4). Mo emor (5)

125, Con you explain why (L} voo were
laie this moming {21/ when we
had 1o make {3 )/ such an impor-
t@nt presentation T (4). No emor (5)
Directions (126-130): In each

guestion below a sentence with four

words printed in bold type is given.

These are numbered as {1}, (2§, (3) amd

(4. One of these four words printed in

baold may be cither wromgly spelt or

imappropriate in the context of the sen-
tence. Find owt the word which is
wrongly spell or innpproepriate, if any.

The number of that word is your an-

swer. [T all the words printed in bold

wre correctly spelt and also appropri-
pie in the conitext of the sentence.
mixrk {5} i.e. "All correct’ as your an-

SWET.

13. He found i1}/ the company in

1980 1o provide {2 i/ electricity

to people living (3 )/ in raral ar-

emm. (410 All correct (5)

Salaries { | |/ of bunk employees

123 are likely ( 3}/ 1. go aboave

{41/ by en per cent. All comrect

5

The Chairman has promissed

{1 tolook {2}/ into ihe maiter

131/ and take necessary (4 )/ ac

fion. Allcormeci(5)

Since { 1)/ the inierest raie on

bank deposits is low {2}/ at

present, people prefer (3)/0 1o

deposil their savings (4)/in post

odTice schemes. All correct {5

2L
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